[JYRIADHSTFEHE]

5: KZERBLY 4: RN 3:E&E 2: &N 1 REEL EiE
W, = e
O SRR 99 127 45 2 1 4.14
= x-*ﬁﬁ
Q@& :ZL1EH 77 138 59 0 1 4.05
OBEDHIS
EREFEOEE 89 126 53 2 2 4.08
@EENDRERE 74 83 34 4 2 4.09
GBRILYT VB 66 83 38 7 1 4.01
OY—ERDERE 84 96 30 2 3 4.01
RS- SEBLV-BE-KE Q& LIsH QEBENRIG - EIRFHDIEE
B5: KERLY o5: KERLY a5: KERLY
84: Rl B4: Bl B84: R
03:&E 03: Ei# 03: %@
02: &\ 02: &l 02: B
B REELD B REEN B AEEN
@IERNDRTER GBILYT R @Y —EADHRE
05: KZERL 05 RERL O5: KERLY
|4: By @4: Bl @34: BN
03: & o03:%5& o03: %@
02: & 02: & 02: B
B KEEL B KEEN B KEEWD




